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AsWe See It

Increasingly, researchers explore the question,uldhdhe investment approach used by someone
accumulating retirement savings and a retiree fpttie dilemma of spending their retirement savitiffer?
Someone accumulating retirement savings has timthein side and the opportunity to make additiams t
their savings. Conversely, the retiree must acttgttime is not on their side and there will leadlditions,
only withdrawals. The performance of the stock kearduring the accumulation years of many current
retirees has strengthened a belief that avoidisigleads to sub-par returns and less money to ehjdapg
retirement. For the retiree, however, there isvgng evidence that emphasis on maximizing retuoukhbe
tempered with an increasing aversion to the coresszps of loss.
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Line A shows that for a person still accumulatieirement savings—by investing entirely in stockhe-t
impact of a significant downturn in the stock markecomes a distant memory. Even without additiona
savings, the $1 million initial value of the savindpubles by the end of the 10-year period.

It is a different story for a retiree using a semilnvestment approach. To maintain a lifestylppsuted by
$50,000 (adjusted annually for inflation), the neti must withdraw from the retirement savings reigas of
the market’s decline. Line B displays how thisggindownturn keeps the value of the retiree’s sgar/iinom
regaining its previous high mark. If the next years are similar, the retiree’s savings will moprove. Add
aminor downturn that only erases one year of the stoclket’a performance any time during the two 10-
year periods and regaining the initial value ofbiiree’s savings becomes unattainable.

Line C displays what happens if the retiree iniialelects a more balanced approach with the naén
savings. With 60% in stock and 40% in bonds, tteket decline is subdued. Although the high mark
attained with this different approach does not egrlcine one attained by initially investing the ensavings
into stock, the retiree’s savings grows to a neghhmark and exceeds the value of the all-stockcgmbr by
the end of the ten-year period.

The model used for these three different scen&iadmittedly simple. The truth is, simulationdiss using
actual annual data for the current century and mbgte past reveal the situation can get much evoighis
is especially true when a retiree encounters aogest extremely volatile annual returns or when dryp
inflation causes the ongoing distributions for ntaimng the retiree’s desired lifestyle to eraseciof the
investment returns. That is why our investmentrapgh to a retiree’s savings includes an addedsfoxthe

consequences of encountering difficult markets.
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